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CORRECTION

1. Résolvons dans  l’équation 5 z + 5 = 2 z + 3 + 2 i:

Soit l’équation: 5 z + 5 = 2 z + 3 + 2 i.

5 z + 5 = 2 z + 3 + 2 i  <=>  5 ( x + i y ) + 5 = 2 ( x + i y ) + 3 + 2 i

<=>  5 x + 5 i y + 5 = 2 x + 2 i y + 3 + 2 i

<=>  5 x + 5 - 2 x - 3 = 2 i y + 2 i - 5 i y

<=>  3 x + 2 = i x ( - 3 y + 2 )

<=>  [ 3 x + 2 ] + i x [ 3 y - 2 ] = 0

<=>  
3 x + 2 = 0

3 y - 2 = 0
 cad 

 = - 2
3

y = 2
3

 
.

En conclusion la solution est: z = - 2
3
 + i x 2

3
 .

2. Résolvons dans  l’équation 2 + i z = ( 5 + i ) ( z + 3 ):

Soit l’équation: 2 + i z = ( 5 + i ) ( z + 3 ).
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2 + i z = ( 5 + i ) ( z + 3 )  <=>  2 + i ( x + i y ) = ( 5 + i ) ( x + i y + 3 )

<=>  2 + i x - y = 5 x + 5 i y + 15 + i x - y + 3 i

<=>  2 - 5 x - 15 = 5 i y + i x + 3 i - i x

<=>  - 5 x - 13 = i x ( 5 y + 3 )

<=>  [ 5 x + 13 ] + i x [ 5 y + 3 ] = 0

<=>  
5 x + 13 = 0

5 y + 3 = 0
 cad 

 = - 13
5

y = - 3
5

 
.

En conclusion la solution est: z = - 13
5

 + i x  - 3
5
  .
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